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C.U.SHAH UNIVERSITY
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Subject Name : Operating Systems

Subject Code : 2TE030SC1

Semester : 3 Date :29/03/2017

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Branch: Diploma (CE)

Time : 10:30 To 01:30 Marks : 70
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Attempt the following questions:
Which of the following is not a type of scheduling algorithm?

A) SRTN B) SPF  C)
Full form of PCB is
A) Process Control Block.

OSF D) None of the above

B) Process Control Board.

C) Process Communication Block. D) All of Above.
What is Full Form of IPC?

A) Intel Process Clock. B) Inter Process Communication.
C) Both A and B. D) Inter Program Communication.

What is the full form of RAM?
A) Raster Access Method
C) Relative Access Method

B) Random Access Memory
D) None of the above

A program in execution is known as
A) Job B) Process C) Scheduling D) Command

ROM is an acronym of
A) Random access Memory
C) Random Object Memory

B) Real Only Memory
D) Read Only Memory

Which of the following is the fastest memory?

A) ROM B) RAM C) Cache Memory D) Virtual Memory
What is the use of PWD command in UNIX?
A) Prints current working directory B) Copies file

C) Prints Password
A set of instructions is known as
A) Process B) Program

D) Sets Password

C) Object D) Job

Which of the following operating system used punch cards to take inputs?
A) Real Time OS B) Batch OS C) Network OS D) Distributed OS

Fork command is used to
A) Join the process
C) Delete the process

B) Create new process
D) Run the program
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In UNIX, to print a message, which command is used?

A) echo B) print  C) copy D) msg

Which of the following scheduling algorithm uses time slice?
A) SRTN B)FCFS C)Round Robin D) SJF
Which of the following is not a process state?

A) Ready  B) Running C) Blocked D) Request

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-1

(a)
(b)

(a)
(b)

(@)
(b)

()
(b)

()
(b)
(@)
(b)

(@)
(b)

Attempt all questions

What is Operating System? List types of OS and explain any two.
Explain Process Life cycle in detail.

Attempt all questions

What is Deadlock? Explain deadlock detection and deadlock recovery.

What is PCB? Explain content of PCB.

Attempt all questions
Explain Memory Management with fixed Partition.
Explain Race condition in detail.

Attempt all questions
Explain File operations in brief.
Explain FCFS scheduling algorithm with the help of an example.

Attempt all questions

What is Firewall? Explain how it helps to achieve of security.
What is page fault? Explain LRU algorithm.

Attempt all questions

Explain Round Robin Scheduling Algorithm in detail.

Write a shell script to find maximum from five numbers.

Attempt all questions
Explain the concept of Virtual memory.
Write a shell script to print average of five numbers.

Attempt the following questions:

ol AotiHiell 53 [Asy(Aot wcolR3un otell?

A) SRTN B) SPF C) OSF D) None of the above

PCBoj Yz olld _

A) Process Control Block. B) Process Control Board.

C) Process Communication Block. D) All of Above.

IPC o] Y3 olld g 87

A) Intel Process Clock. B) Inter Process Communication.

C) Both A and B. D) Inter Program Communication.
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RAM of Y3 olti 9 8?2

A) Raster Access Method B) Random Access Memory

C) Relative Access Method D) None of the above
AEBsYAol Hi Slat Acl NAH A 53 D

A) Job B) Process C) Scheduling D) Command
ROMoj Yz ot __ ®.

A) Random access Memory B) Real Only Memory

C) Random Object Memory

ol Aotl Hiell 565 AMIL Ulell 512 B2
A) ROM B) RAM C) Cache Memory D) Virtual Memory

UNIX Hi pwd $MleS 9 sl 52 82

A) 522 a(Sot (33523l Mot 52 ® B) stefct s\l 52 ®
C) wds M2 52 ® D) Wwcts A2 53 ®

o253l oll A2 WA .
A) Process B) Program  C) Object D) Job

565 VU0l RIeH Hi 8olye HIZ U 518 oll GUAL AA cll?

A) Real Time OS B) Batch OS C) Network OS D) Distributed OS
Fork SHloS oll GU20L 2l HIe Ul B?

A) YRR St sal HI2 B) otcll WA lollctall M2

C) YA Slclle sal He D) WIA™Y 2wt scll HI2

UNIX Hi Qo2 52l HIZ 520 $HIS GUAL AL B?

A) echo B) print  C) copy D) msg

sl [QsY(Adol WONRUM Hi 2lEH EAUSU ol GUADL Ul B?

A) SRTN  B)FCFS C)Round Robin D) SJF

ol Aol Hiell 53 YAU of As w2 otell?

A) Ready  B) Running C) Blocked D) Request

D) Read Only Memory

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

(@)
(b)

(@)
(b)

(@)

Attempt all questions
AUUR(EoL RIeH M@ 2j? 0S o1l YSIR AWl Aol Sl ULl 2 Al

YR Ay WBsA AHestal
Attempt all questions
3scAls Aed 9j? 3scls (32520t U 3scAls Rl AHH AL

PCB A2Q 9J? PCB il Sotoe AU,

Attempt all questions
(st wdlatet clg] A3 AaeNoz AHNLAL
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Attempt all questions (14)
(@) g5t JURAA &5 HL UHALAL 07
(b)  Gelszel WA FCFS Rlsy(Aot wealRUH UHHAL. 07
Attempt all questions (14)
@)  slerdld AeA 92 RsARI AaocatHi A 3cl A Hee s2 D A umesAl 07
(b) Ay Qe Ned@ 92 LRU A@URuUM uMosdl. 07
Attempt all questions (14)
(@) AGes Aot WeNRuM Qg Hi UMM A 07
(b) 5 oioz Higll ABAHH olorR ucl HBell Act Wlue cvll. 07
Attempt all questions (14)
(@) cRfuc AHL QY uHedl 07
(b)  5oieR ofl Aadey dual HBell At Wlue cul 07
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